


Skill Level: easy

How much yarn: 1 balls (50g and 125m) of

Milo yarn (100% Cotton) shade no. 8686

1balls (25g and 195m) of Paillettes yarn

(100% Polyester) shade no. 8933

Hook: A 2.00mm crochet hook

A 3.00mm crochet hook

Sewing needle: Yarn needle with rounded point

STITCHES

Using hook: chain (ch) — Slip stitch (ss)

Treble (tr)

FRONT POST TREBLE (FPTR): yarn on hook, insert
hook around stem of treble from front to back,
yarn on hook and pull through a loop, (yarn on
hook and pull through two loops on hook) twice

INSTRUCTIONS

Note: work with a strand of Milo yarn and a strand
of Paillettes yarn held together throughout. With
3.00mm crochet hook, ch45 and join in a ring with
a ss into first ch, then work as follows: 1st round:
ch2,1tr into each of next 44 ch, change hook and
with 2.00 crochet hook end with a ss into 2nd of
first ch2. From 2nd to 5th round: with 3.00mm cro-
chet hook widen the loop on hook slightly and cont
to work 1 FPtr in each st of previous round and, at
end of the round, with 2.00 crochet hook work 1 ss
inserting hook into first st of this round and, at the
same time, into first st of previous round to create
a hidden closure. At end of 5th round, turn bangle
on wrongside and join last round to opposite side
of first round, working 1 ss inserting hook at the
same time into a stitch of previous round and into
corresponding st across starting ch. At end, fasten
off. Cut yarn and weave it among stitches to hide.
Shape the finished bangle with your hands.

Skill Level: easy

How much yarn: 1 balls (50g and 125m)

of Milo yarn (100% Cotton) shade no. 8686.
1balls (25g and 195m) of Paillettes yarn

(100% Polyester) shade no. 8933

Hook: A 2.00mm crochet hook

Sewing needle: Yarn needle with rounded point
Other items: Two earring hooks

Sewing needle and matching thread

STITCHES
Using hook: chain (ch) - Slip stitch (ss)
Double crochet (dc)

INSTRUCTIONS

Note: work with a strand of Milo yarn and a strand
of Paillettes yarn held together throughout.

For each earring, with 2.00mm crochet hook, ch4,
1 ss into 2nd ch from hook, 1 ss into each of next
2 ch, then ch7,1ss into 2nd ch from hook and 1 ss
into each of next 5 ch, then ch4, 1 ss into 2nd ch
from hook, 1 ss into each of rem 2 ch, end with a ss
into next st. For oval ring, ch9, 1 ss into st at base of
ch9 just made, chl, 9 dc into ring, a ss at base of
ring. Fasten off. Cut yarn and weave it among
stitches to hide. With sewing needle join thread at
centre of oval ring, insert an earring hook, then in-
sert thread fasten off on wrongside.



